MIAMI-DADE MIAMI-DADE COUNTY
COUNTY PRODUCT CONTROL SECTION
DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11805 SW 26 Street, Room 208

AFFAIRS (PERA) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/pera/
PGT Industries

1070 Technology Drive,

Nokomis, Fl. 34275

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County PERA -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
PERA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Section that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “FD-650” Outswing Aluminum French Door w/Sidelites — N.I.

APPROVAL DOCUMENT: Drawing No. 8000-12, titled “Alum. French Door & Side Lites, Non-
Impact”, sheets 1 through 11 of 11, dated 12/30/04, with revision D dated 10/10/11,prepared by
manufacturer, signed and sealed by Anthony Lynn Miller, P.E., bearing the Miami-Dade County Product
Control Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade
County Product Control Section.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherw1se
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 09-1028.09 and consists of this page 1 and evidence pages E-1 and E-2, as well
as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.
NOA No 11-1013.23

Expiration Date: March 24, 2015
Approval Date: November 24, 2011

Page 1



PGT Industries

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1.

2.

Manufacturer's die drawings and sections

Drawing No. 8000-12, titled “Alum. French Door & Side Lites, Non-Impact”, sheets 1
through 11 of 11, dated 12/30/04, with revision D dated 10/10/11, prepared by
manufacturer, signed and sealed by Anthony Lynn Miller, P.E.

TESTS

1.

Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94,
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, Per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of aluminum doors of OXXO

- configuration, prepared by Fenestration Testing Laboratory, Inc., Test Report No.

FTL-4921, dated 07/17/06, signed and sealed by Edmundo Largaespada, P. E,
(Submitted under previous NOA #09-1028.09)
Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Forced Entry Test, Per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of aluminum doors of XXXO
configuration, prepared by Fenestration Testing Laboratory, Inc., Test Report No.
FTL-4450, dated 12/14/04, signed and sealed by Edmundo Largaespada, P. E.
(Submitted under previous NOA #09-1028.09)
Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Forced Entry Test, Per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of aluminum doors of OXXX
configuration, prepared by Fenestration Testing Laboratory, Inc., Test Reports No.
FTL-4451, dated 12/14/04, signed and sealed by Edmundo Largaespada, P. E.
(Submitted under previous NOA #09-1028.09)
Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Forced Entry Test, Per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of aluminum doors of XXXO
configuration, prepared by Fenestration Testing Laboratory, Inc., Test Reports No.

Expiration Date: March 24, 2015
Approval Date: November 24, 2011



PGT Industries

B.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

TESTS (CONTINUED)
5. Test reports on: 1) Air Infiltration Test,
2) Uniform Static Air Pressure Test,
3) Water Resistance Test,
4) Forced Entry Test, per SFBC 3603.2 (b)
along with marked-up drawings and installation diagram of an aluminum sliding glass
door using a low sill threshold, glazed with 3/16” temp. glass, prepared by
Fenestration Testing Laboratory, Inc., Test Report No. FTL-5967, dated 05/07/09,
signed and sealed by Julio E. Gonzalez, P.E.
(Submitted under previous NOA #09-1028.09)

CALCULATIONS
1. Anchor verification calculations and structural analysis, complying with FBC-2007,
~dated 10/01/09, prepared, signed and sealed by Robert L. Clark, P.E, updated to the
FBC-2010 on 10/11/11, signed and sealed by A. Lyon Miller, P.E.
2. Glazing complies with ASTM E1300-04

QUALITY ASSURANCE ,
1. Miami Dade Department of Permitting, Environment, and Regulatory Affairs (PERA).

MATERIAL CERTIFICATIONS

1. None
STATEMENTS
1. Statement letter dated 10/07/11, Successor Engineer adopting the another engineer’s

work per FAR 61G15-27-001, signed & sealed by A. Lynn Miller, P.E.

2, Statement letter of conformance with the FBC-2007 and FBC-2010, prepared by
manufacturer, dated 10/11/11, signed & sealed by A. Lynn Miller, P.E.

3. Statement letter of “No financial interest”, prepared by manufacturer, dated 10/11/11,
signed & sealed by Lynn Miller, P.E.

4, Letter of lab compliance, part of the above test reports.

5 Proposal No. 08-1891 issued by BCCO, dated January 26, 2009, signed by Ishaq
Chanda, P.E.

'OTHER

1. Notice of Acceptance No. 09-1028.09, issued to PGT Industries for their Series “FD-
650” Outswing Aluminum French Door w/Sidelites — N.I., approved on 02/10/10 and
expiring on 03/24/15.

NOA No11-1013.23
Expiration Date: March 24, 2015
Approval Date: November 24, 2011



GENERAL NOTES: QUTSWING NON-IMPACT FRENCH DOOR(S) AND SIDE LITE(S)

1. GLAZING OPTIONS:
A. 3/16" TEMPERED GLASS

B. 7/8" 1.G. GLASS CONSISTING OF (2) LITES OF 3/16" TEMPERED GLASS WITH A 1/2" AIR SPACE.

2. DESIGN PRESSURES: (SEE TABLES 1, 2 AND 3, SHEET 2)
/AA- NEGATIVE DESIGN LOADS BASED ON TESTED PRESSURE AND GLASS TABLES ASTM E 1300-02.
B. POSITIVE DESIGN LOADS BASED ON WATER TEST PRESSURE AND GLASS TABLES ASTM E 1300-02.

3. CONFIGURATIONS: X, O, XX, XO, OX, XXX, XXO, OXX, OXQ, XXXX, XXX0Q, OXXX, OR OXXO WHERE QO REPRESENTS EITHER THE NARROW JAMB OR FULL JAMB SIDE LITE.

| AVANY TWO ADJACENT X UNITS CAN BE EITHER TWO SINGLE X DOORS OR A DOUBLE XX DOOR, BOTH USING EITHER THE STANDARD OR THE LOW-RISE SILL, THE FRENCH NOA DRAWING MAP
DOOR ASSEMBLY BEAM IS USED TO ASSEMBLE X, XX, AND
O UNITS TO MAKE THE ABOVE CONFIGURATIONS,

TOoPIC SHEET
GENERAL NOTES w1
%\NCHORAGE: THE 33 1/3% STRESS INCREASE HAS NOT BEEN USED IN THE DESIGN OF THIS PRODUCT. FOR ANCHORAGE REQUIREMENTS SEE SHEETS 8 THROUGH 10. CONFIGURATIONS |
GLAZING DETAILS.. A
5. SHUTTERS ARE REQUIRED WHERE IMPACT RESISTANCE REQUIRED. SHUTTERS MUST BE MIAMI-DADE COUNTY APPROVED FOR INSTALLATION IN MIAMI-DADE COUNTY. DESIGN PRESSURES....... 2
ELEVATIONS......... .3
6. SEALANTS: INSTALLATION SCREWS, FRAME AND PANEL CORNERS SEALED WITH CLEAR COLORED SEALANT. VERTICAL ASSEMBLY BEAM SEAMS SEALED ON THE VERT. SECTIONS.. 4
INTERIOR AND EXTERIOR WITH CONTRACTOR SEALANT. HORIZ. SECTIONS. .5
PARTS LIST........ . 6
7, REFERENCES: TEST REPORTS FTL.-4450, FTL-4451, FTL-4452, FTL-4921 AND FTL-5967. EXTRUSIONS.
A ANSI/AF&PA NDS-2005 FOR WOOD CONSTRUCTION ANCHORAGE.
ADM-2005 ALUMINUM DESIGN MANUAL

8. THIS PRODUCT HAS BEEN DESIGNED & TESTED TO COMPLY WITH THE REQUIREMENTS OF THE FLORIDA BUILDING CODE, INCLUDING THE HIGH VELOCITY HURRICANE
ZONE (HVHZ).

—=1 7/8"NOM. |=—

1/2" AIR SPACE
—*l I—— 316" TEMPERED GLASS 3/16" TEMPERED GLASS —={ ~— 3/16" TEMPERED GLASS

100 4 (109
o
C o g '

] !
EXTERIOR A

109

® -
!
N6,

EXTERIOR

g ey,
Av \— SETTING BLOCK Av \—- SETTING BLOCK \\\\\5“\(.“[\{,! 4///( (//, 2
SR CENSE S
GLAZING DETAIL GLAZING DETAIL N S " K%
MONOLITHIC GLASS I.G. GLASS 3 * No. 68705 ‘-., z
= _O’- /% fees
:’ﬁ l° “&” [IL'L/I:
4 WDATE%WLDM(;ODEMDDESIGNWMALVEAR& Devortption: /’Q(\ STATE O e\\\
L TRET AT o memorcoy oave GENERAL NOTES, GLAZING DETAILS AND MAP| =2 PLOR\OP*e S
- . ALUM, FRENCH DOOR & SIDE LITES, NON- IMPACT K S’ONAL
FBC 2010 CODE CHANGE N B 1 [ v o, A LYI(JN MlLLék PE.
il ' FDO50 | oLl 1«11 I sooo-12 | D FL P.E.# 56705




[ TABLE 1. COMPARATIVE ANALYSIS: OUTSWING DOORS

TABLE 3. COMPARATIVE ANALYSIS: NARROW JAMB SIDE LITE

leLass A 316" TEMPERED GLASS GLASS A TEMPERED GLASS
g OPTIONS: B. 7/8" 1.G. (3/16'T, AIR SPACE, 3/16'T) OPTIONS: B. 7/8" |.G. (3/16'T, AIR SPACE, 3/16'T)
8| poor DOOR HEIGHT SIDE LITE SIDE LITE HEIGHT
wibtH | 6%-.79314" | 7°-83 34" 87 3/a 91 314" 8°-9534" || wioth | 6®-7934» | 7°.833m" 87 314" 91 3/4" 8- 95 314"
x|2® 26 [+1000 -145.0|+100.0 -145.0|+1000 -145.0|+100.0 -1450]+1000 -130.5|| 101416" | +100.0 -145.0]+1000 -1450]+100.0 -1450]+1000 -1450[+1000 -145.0
X 27" | +100.0 -145.0 [ +100.0 -146.0| +100.0 -144.2|+100.0 -136.9] +100.0 -130.3|| 13 11116" | +100.0 -145.0] +100.0 -145.0|+100.0 -145.0] +100.0 -145.0 | +100.0 -145.0
X 20" [+100.0 -145.0 | +100.0 -1434]+100.0 -135.7 | +100.0 -128.7 | +100.0 -122.4|] 16 11116" | +100.0 -145.0| +100.0 -1450]+1000 -145.0]+100.0 -145.0]+100.0 -1450
x|2° 31" [+1000 -1442[+1000 1358 +100.0 -128.3[+100.0 -121.6|+100.0 1156 || 19 11:16" | +100.0 -145.0 ] +100.0 -145.0| +100.0 -145.0 | +100.0 -145.0 +100.0 -145.0
x|2® 33" |+1000 -126.7]+1000 -126.7]+100.0 -122.0|+1000 -1155]+1000 -100.7|] 211118" | +100.0 -145.0]+100.0 -1450]+100.0 -1450]+100.0 -145.0|+1000 -145.0
X 36" |+100.0 -112.2|+100.0 -112.2]+100.0 -112.2|+100.0 -110.2| +100.0 -104.6 || 24 11/16" | +100.0 -145.0 | +100.0 -145.0]+100.0 -145.0|+100.0 -144.9]+100.0 -137.0
x| 3 [+1000 -100.0]+1000 -1000f+100.0 -100.0]+100.0 -100.0[+1000 -1000][ 30 11116 [+1000 -1429]+1000 1353 |+1000 -127.6]+1000 -121.1 | +100.0 1151
0
XX| 4" 473/4"] +100.0 -145.0|+100.0 -145.0 | +100.0 -145.0 | +100.0 -145.0 | +100.0 -139.5|| 33 11116" | +100.0 -118.6 | +100.0 -1186]+1000 -118.6|+100.0 -112.56|+1000 -1068
XX 513/4"1 +100.0 -145.0 | +100.0 -145.0] +100.0 -144.2 | +100.0 -136.9 § +100.0 -130.3 j| 36 11/16" } +100.0 -100.0 } +100.0 -100.0 | +100.0 -100.0 | +100.0 -100.0 | +100.0 -100.0
xx|  653/4"| +100.0 -145.0 | +100.0 -143.4)+100.0 -135.7 | +100.0 -128.7| +100.0 -122.4
xx| 8° 69 3/4"] +100.0 -144.2]|+1000 -135.8]+100.0 -128.3|+1000 -121.6| +1000 -1156
xx| 8* 633| +1000 -1267[+100.0 -126.7|+1000 -122.0]+100.0 -1155[+1000 -100.7
xx|  6734"|+100.0 -1122]+1000 -112.2]+100.0 -112.2]+100.0 -110.2] +100.0 -104.6
xx| 6° 71 314"] +1000 -1000]+100.0 -100.0]+1000 -100.0]+100.0 -100.0]+1000 -100.0
TABLE 2. COMPARATIVE ANALYSIS: FULL JAMB SIDE LITE
[ [ overmANG |
GLASS A 3/16" TEMPERED GLASS LENGTH
OVERHANG || o
OPTIONS: C. 7/8" 1.G. (3/16'T, AIR SPACE, 3/16'T) HEIGHT 19
SIDE LITE SIDE LITE HEIGHT i
wioTH | 6°.703ia" | 7°-83 34" 87 314" 91 314" 8° - 95 314" A W
21 1116" | +100.0 -145.0 | +160.0 -145.0 | +100.0 -145.0|+100.0 -145.0 | +100.0 -145.0 NOTES:
1o . _ _ _ 1. IF USING THE OPTIONAL LOW-RISE SILL (PART 10, SHEET 7 OF
2411/16" | +100.0 -145.0 | +100.0 -145.0] +1000 -145.0 +100.0 -144.9]+1000 -137.9 1), THE OVERHANG HEIGHT MUST BE OREATER TriA T
30 11/16" | +100.0 -142.9|+100.0 -135.3]+1000 -127.8]+1000 -121.1|+1000 -115.1 OVERHANG LENGTH (SEE DIAGRAM). IF NOT, THE MAXIMUM
POSITIVE (+) DESIGN PRESSURE IS LIMITED TO +50.0 PSF FOR
33 1116" | +100.0 -118.6 | +100.0 -118.6 | +100.0 -118.6 | +100.0 -112.5|+100.0 -106.8 ALL STYLES AND SIZES OF THE DOOR AND ANY ADJOINING U,
. O 2
36 11/16" | +1000 -1000]+1000 -100.0]+1000 -100.0]+1000 -100.0]+1000 -1000| ~ SPEHTES SOt M
N NG
I* o 58705 ok -
NOTE: REFERENCE TEST REPORTS FTL4450, FTL-4451, FTL-4452, FTL-4921 AND FTL 5967. & = * =
gt @W =
~R RS
IR 0622109 ) .ADDEDNOTHDMGRAMFORLOWSILLOP"ONADDEDTESTREPORT# 4 /’on STATE OF é“l S
B [ o | |NOCHANGES THIS SHEET. T 1070 TEGHNOLOGY DRIVE gESIGN PRESSURES “, Qoo LoROE ';\\Co\\\‘\
] . ALUM. FRENCH DOOR & SIDE LITES, NON-IMPACT 70 ,/ ONAL %\\\\
s | twnom | 0 _Inocnaoes s sneer, neh.Box 1620 ] e oo = o A LYNNIELER, P.E.
R | Tsa0d o ' FD650 |NA 2 «11 8000-12 D FL P.E.# 58705




| | 145 3/8" MAX. WIDTH

|4— 73 13/16" MAX. WIDTH ——I I—— 110 5/8" MAX. WIDTH | I

// 7/ / 7/ / \ A
95 3/4"
ALL —“ﬂl Jlﬂ 1& §u~
\. N \. /
N N
OXORXO oxo OXXO (SHOWING EACH VERSION SIDELITE)
__ ar . _oy 361116 36 11/116"
MAX.WIDTH [T I‘— 71 34* MAX. WIDTH ‘—‘I MAX‘;Z\;\II'IDTH Ml:; :;/:E"TH
3,‘:,(,)72”'5 T max.pLo [~T
// / / \ N
79 1/8" ‘ ’ h
(V7 va\V Vi
DLO
/ o / e / 4

\\\\lllly,,l

NN YW gy, 70,

O (FULL JAMB) O (NARROW JAMB) \“\,ef?- oy 7,

1%

X 3
NOTES: 5‘* Y noseros k2
1. CONFIGURATIONS WITH SIDE LITES CAN BE EITHER NARROW JAMB OR FULL JAMB VERSIONS. = ; : -
2. FOR ANCHOR SPACING AND DETAILS, SEE SHEETS 8 THROUGH 10. = el
3. FOR VERTICAL SECTIONS SEE SHEET 4 AND FOR HORIZONTAL SECTIONS SEE SHEET 5. ’: —0 qu‘g,/,’lir E S
i Gonorplo: 2/% ", STATEO Q/\S
. ALUM. FRENCH DOOR & SIDE ures NON- IMPACT /ONA\_ ‘?« \\‘
A LYNN IMLLER P.E,

P.0, BOX 1620
N L 34274 [
oM, FL 34zr =—" | " ross0 | NTS| 3 « 11 I so00-12 | D FL P.E.# 56705




VERTICAL SECTIONA [JT©
NARROW AND FULL /|| ,

| JAMB SIDE LITE HEAD

\

VERTICAL SECTION B ] B '
OUTSWING HEAD , e
ol

r ORIGINAL VERSION TOP RAIL

L@ A @}
ALTERNATE VERSION TOP RAIL

g /o

A IA ;\'
\
N N
MAX. DLO ] ﬂb MAX. DLO —] ﬁ@‘b
EXTERIOR INTERIOR EXTERIOR INTERIOR
MAX. MAX.
HEIGHT HEIGHT

r ORIGINAL VERSION BOTTOM RAIL

|
ALTERNATE VERSION BOTTOM RAILj
m /(10

9 A A i,
0 g A @ L. \\\/:‘;0“\(‘ . \';:N My, 4\4:/ ”,
Q Al \‘\Q',-"'\,\C Sg ’///
VERTICAL SECTION D —5 <, x %

AN

o5

VERTICAL SECTIONC | o S 05 X L
NARROW AND FULL » OUTSWING SILL @jr = N°’ia Pt
JAMB SIDE LITE SILL i By a [ ""’ ~':1"“§

7 Thae: Ravislons: oo /,:;)o STATE OF \%y:

e |8 poepiowssEs 1070 TECHNOLOGY DRIVE XERTICAL SECTIONS ,,",/%\\S“éﬂ'(’)ﬁ\?& ?)\O

i Rl F—— e l@l ALUM. FRENCH DOOR & SIDE LITES, NONAMPACT | " é o
0 CHArcE NOKOMIS, FL 34274 ® | rpsso i 1/2 | 4 o 11 Im 8000-12 D " FLP.E#58705




OXXO HORIZONTAL SECTION SHOWING (1) OF EACH SIDE LITE TYPE _J\_@

- — L ——
, @-u- -
L) D "
S— vz ~ i LR

=<>

NOTE: ASSEMBLY HARDWARE QTY (3), 11"
FROM TOP & BOTTOM AND ONE AT MIDSPAN

INTERIOR
o
Asiptauce No.
DETAIL F ” il
FULL JAMB SIDE LITE EXTERIOR| M Dede Product

(AT HINGE JAMB)

SEE NOTE

NUALALILI T
O 7
\\\\ < \XNNM/QQ;///

DETAIL E DETALL | S K
DETAIL H DETAIL K JAMB, FULLJAMB ~ JAMB,NARROW | =% oo . %
NARROW JAMB SIDE LITE HINGE JAMB TO HINGE JAMB SIDE LITE JAMBSIDELITE |Z* "Wk e
(AT HINGE JAMB) (NOT SHOWN ABOVE) B Lo TS
e S Ao, (S

NG A S

Descripton:
o0 TECHNOLOGY DRIE HORIZONTAL SECTION DETAILS T Frons
o, e ALUM. FRENCH DOOR & SIDE LITES, NON-IMPACT | 7 SSIONRY,
NS Boxi820 ] et T o =T = A LYNNAAILLER, P.E.
' FDB50 172 | 6 « 11 ‘ 8000-12 D FL P.E.# 58705




FD650 DOOR(S) FD650 FULL JAMB SIDE LITE
em | pwos | DESCRIPTION PG ITEM [DWG # DESCRIPTION PGI#
FRAMEKIT PARTS 1 | 8006 |[FRAME-HEAD, SILL & JAMB 68006
1| 8006 |[FRAME- HEAD & HINGEJAMB 68006 4_| 8008 |DRIPCAP 68008
2| 8003A [OUT-SWINGSILL 68003A 6 | 8007 |SCREW COVER 68007
3| 8004C |OUT-SWINGSILL COVER 68004C_ JA 7 | 8009 |INSTALLPLATE 68009
4 | so8 [DRIPCAP 68008 8 FRAME ASSEMBLY SCREW #3 X I PHQUAD 81PQA
5 HEAD, SILL & JAMB WEATHERSTRIP (SCHLEGAL) U8333778500) 2 | soi2 wsnu«: 68012
6 | 8007 [SCREW COVER 68007 21 | 8014 |TOPRAIL 68014
7 | 8009 [INSTALLPLATE 68009 2 | 8013 |BOTTOM RAIL 68013
8 FRAME ASSEMBLY SCREW #8 X 1" PHQUAD TBIPQA 3 THREADED ROD 5/16-18 X 36" 6TRODA
9 | 8032 [ASTRAGALENDSFAL 48032 36 FLANGED HEXNUT 5/16-18 799NUTA
10_| 8058 [OUT-SWINGSILL (LOW RISE) 4808 |/ 31 | o390 [TRUSS CLAMP 60378M
DOOR PANHL 6 #8X 3/4' PH SQ DRIVE TEK SCREW T8X34PSTW
5 HEAD, SILL & JAMB WEATHERSTRIP (SCHLEGAL) U83337T8500) 61 | 8028 [SIDELITEHEADTRIM 68028
20 | 8012 [stiLe 68012 62 | 8020 |SIDELITEJAMBTRIM 68029
21 | 8014 |TOPRAIL, (THREADED ROD DESIGN) 68014 FD650 NARROW JAMB SIDE LITE
22 | $013_|BOTTOM RAIL, (THREADED ROD DESIGN) 68013 1_| 8006 |FRAME-HEAD&SILL 68006
2 | s ITOPSWEEP 68017 4_| so0s [pripCAP 68008
24_| 3016 |BOTTOM SWEEP 68016 6 | 8007 |SCREW COVER 68007
25 | [SWEEP SCREWS, #4 X 1/2° PHIL PH 7_| 8009 [INSTALLPLATE 68009
| 26 | 8015 |ASTRAGAL, ACTIVE& INACTIVE 68015 8 FRAME ASSEMBLY SCREW #8 X 1" PH QUAD 781PQA
27 | 8021B |GEAR HINGE, JAMB SIDE 630218 21| 8014 [TOPRAIL 68014
28 | 8020A |GEARHINGE, COVER 68020A 2 | so3 [BoTTOM RAIL 68013
29 | 8018 |GEARHINGE, BACK-UP PLATE 63018 35 THREADED ROD §/16-18 X 36" 6TRODA
30 _| 8019A |GEAR HINGE, DOOR SIDE 68019A 36 FLANGED HEX NUT 5/16-18 799NUTA
31| 8035 |GEARHINGE, BEARING 68035 37 | 8039 |TRUSS CLAMP 60378M
2 GEAR HINGE, SET-SCREW #6-32x /4" 0 48 X 3/4° PH SQ DRIVE TEK SCREW IBX34PSTW
33 GEAR HINGE, MTG, SCREW #12 x3/4" TRUSS HD. | 61 | 8028 [SIDELITEHEADTRIM 68028
3 GEAR HINGE, MTG. SCREW #12x 1 1/2" TRUSS HD. 70_| 8010 |[FRAME, JaMB 68010
3 'THREADED ROD 5/16-18 X 36" 6TRODA ASSEMBLY KIT
36 FLANGED HEX NUT §/16-18 7990NUTA 80_| 80338 [FRENCH DOOR ASSEMBLY BEAM 630338
37_| 8039 |TRUSS CLAMP 60378M 81 #10-24 X 2 1/2" PH SCREW
| 38 | 8043 [s/S GRAR LATCH MECHANISM (ASHLAND) ® #10-24 HEX NUT
39 | 3030 |LocK BLOCK 48030 8 #12X 112" TR HD TEK SCREW
40 LATCH ASS'Y SCREWS #8 X 2" SS PHILL TR HD 78X2TPAX 84 | 8056 |SUBSILL(OPTIONAL) 68056 A
41 | 8037 [S/SSHOOT BOLT ROD (SULLIVAN) GLASS, BEADS & SILICONE
42 | 8M5 ISTANDARD FLUSH BOLTS W/SS ROD (SULLIVAN) % GLAZING SEALANT, DOW CORNING §99, 983, 995 OR EQUIVALENT
43 | 8031 |SHOOT BOLT GUIDE 48031 100 3/16" TEMPERED GLASS
4 SHOOT BOLT GUIDE & STRIKE SCREW 8-32 X 3/8" SS PHILL TR HD | 78X38PFTX 101 7/8" 1.G. GLASS (3/16"T, 1/2" AIR SPACE, 3/16"T)
45 _| 8038R |RIGHT- STRIKEPLATE AT ASTRAGAL (ACTIVEHINGED LEFT) | W511043S1 102 | 8025 |3/16° BEAD 68025
46 | 80381 |LEFT - STRIKEPLATEAT ASTRAGAL (ACTIVEHINGED RIGHT) | W5110-44S1 105 | 8022 IBACK BEAD 68022
47 |~ |STRIKE PLATESCREWS 8.32 X 3/8" 5 PHILL TRHD 8X38PFTX 106 | 8026A |SL BACKBEAD 630264
48 | STRIKE PLATEMIDDLE SCREW 624 X 1/2" FH T612FPTX 108 | 8024A |/° 1GBEAD GB024A
49 | 8036 [STRIKEPLATEAT HEAD & SILL 109 | 1224 |VINYL BULB WSTP (THICK) 6TP247 NI
50 |- HEAD STRIKESCREWS SS 8 X 1/2 PHILLFH 78S8ZAX \\\‘\‘ RN MI Ltry
51 _jrwermne| STRIKE PLATE SCREWS @SILL SS 8 X 1/2 PHILL UNDERCUT FH _|78X12PFHUX] St i (e ‘,
52| 841 |ACTIVETRIM SET (ASHLAND) S KorgeEnse
53 | 8042 [PASSIVETRIM SET (ASHLAND) N G5 n =
54 | 8044 |STAINLESS STEEL PASSIVE LOCK GEAR (ASHLAND) Sk NS -
55| 8014A |TOP RAIL (LAG BOLT DESIGN) 680144 A = i *x : &’7:
|_s6_|8013A |BOTTOM RAIL (LAG BOLT DESIGN) 680134 |A e am:’ w3
Fonaby Comc: LR, SWE o 0\%5
oL R L 1070 TEGHNOLOGY DRIVE P ARTS LIST 5. S - FLOR® "'eé\\\‘\
oo ALUM. FRENCH DOOR & SIDE LITES, NON-MPACT 77 SIONAY, (&
o crunaes s swee. N O.box ez ] e A.LYNN MILLER, P.E.
‘ i FD650 | NA | 6 «11 | 8000-12 |T FL P.E.# 58705




311

’I%D

.040

#8007 6063-T6
SCREW COVER

FEODUCT REVISED
s copplying with ilre Flority,

RO

——] 1278 |
— 062
J_ T [&\ T 9 .062 2.236 050
1.000|L= | r:!rﬂ | 4,027 |
= 5839 l L— (4 Wy
Tl 3.636 | T}' Y e ) —] 1383 1.033 050 —
FR;ISI(I)EOZ?E(,)AGS -IiMB #8003A 6063-T6 #8004C 6063-T5 A r #8008 6063-T5
AND SIDELITE SILL OUT-SWING SILL OS SILL COVER ‘ DRIP CAP
o
. _f -I_ 074 —'
I 3.018 1 062 2,000 T 1.940
l | J__E ! 1.376 1.498
050 ~ .583. '.—'— J_ N | & 5P
| T. 3.636 ] i pps | 050 ]
#8009 6063-T5 A #8056 6063-T6 @ #8012 6063-T6 #8017 6063-T5
INSTALL PLATE OUT-SWING LOW SILL STILE TOP SWEEP
. . | |
T T 075 J E; T _L__ 050
1.938 —ti=— 400 1.938
1.467
7
S I | 9’@ t ‘l
f 8.250 ] f 4434 | T 2240
#8013 6063-T6 #8014 6063-T5 @ #8016 6063-T5
BOTTOM RAIL TOP RAIL BOTTOM SWEEP
=) o, 0
T T 075 J T 078
1.038 . 100 1.938 —T
l _L 1-4'67 1.170
L a . |
f 8.250 | ! 4434 | 2544 —-—'I_L
#8013A 6063-T6 #8014A 6063-T5 @ #8015 6063-T6
@ BOTTOM RAIL, LAG BOLT DESIGN TOP RAIL, LAG BOLT DESIGN - ASTRAGAL
Revisions: Desaripion:
ﬁm—wﬁ—_—%mmﬂgm EXTRUSION PROFILES
= IS o ALUM. FRENCH DOOR & SIDE LITES, NON-MPACT
' oo FL. sézrd ® | e w2 | 7 w11 | sono-12 l_b_

R JCENSE

FL P.E# 58705




260 —=]
j=— 2.260 _['

075

i

@Jg 3
072 _T

142

301

|—<— 1.812 ——I—l

075
-T Y —— 100 ||
T |~ 1763 = =— 2438 —] —T
#8021B 6063-T6 #8020A 6063-T6 #8018 6063-T5 #8019A 6063-T6 #8039 6063-T6
GEAR HINGE, JAMB GEAR HINGE, COVER HINGE, BACK-UP GEAR HINGE, DOOR TRUSS CLAMP

062 125 3.251
} 3.775 ii —J-
413'5 LTF 080 _Ll j 1.000
. = ey i
T 26z ___J o a2 ¥ o 4 325 i ) 3636 I'f |eas =|
#8028 6063-T5 #8056 6063-T4 #8033B 6105-T5
@ SL HEAD TRIM © SUBSILL, OPTIONAL #8010 6063-T6 (80) Fp AsS'Y BEAM
NARROW SL JAMB
045 _L 1.169 i .040
___L J_ f=— 2313 —=
442 965 750 045 e __;_
-—' 065 I;,[ T 045 F| 818 = 957 | l .osoﬂ
@ #8022 6063-T5 @ #8026A 6063-T5 @ #8023A 6063-T5 #8024A 6063-T5 #8029 6063-T5
BACKBEAD SL BACKBEAD 7/16" BEAD I.G. BEAD @ SL JAMB TRIM
[NF) IL
SN W 57
\\\\\Yé\\,\CEN\S‘s(‘?;) /,2
S* Nossros K B
Syl aasvl* N
3 el
Dvearpion: a,Q(\ STATEOF " 4/ .3
70 TECHNOLOGY DRV EXTRUSION PROFILES (CONT.) R Alomoh S
NOKOMIS, FL 34275 b 1 SIONAL B
£.0,B0K 1620 ALUM, FRENCH DOOR & SIDE LITES, NON-IMPACT ‘1, o
NOKOMS, FL 34274 S T [OE Bviai ; A LYNN MILLER PE.
FDB50 | 172 | 8 «11 | 8000-12 r? FL P.E.# 58705




12'A
P T Py P e ey e e i

N H VS R N ST W W H
i | B 1 ] 1 3MN, i I :_<HEAD asi 1 la MIN, "< Heap & siL v |
} 1 : ANCHO 1 TYP. ANCHOR ’
1 1 ATY® CLUSTE?! i A CLUSTER 1
1 1 10.571° 1 (TYPICAL) | (TYPICAL) 10571
1 1 %Aé( 4 4 %Aé(
I v { T s | 4 JAVB 4 1 e [ |
ANCHORS 18.400" 4+ ANCHORS + ——lA ANCHORS 18.800" T ANCHORs 4 ——J—A
HT. QTy. MAX. HT. QTY. HT. QTv. MAX. HT. QTv.
1 esaa-5 |_of T es34-@8) T 1 9534'-(5) | __ O + A A 9534"-(8) T
91 3/4" - (5) 91 3/4" - (8) ’ 91 3/4" - (5) (2)EQ. (3) EQ. 91 3/4" - (8) }
87 3/4" - (5) T sram-8) T 87 3/4" - (5) T  SP.TYP. SP. TYP. 87 3/4"-(8) ]
1 833m-(5) | _‘_ 1l s3zma-(ry | ___J_ ] 83 3/4" - (5) ___L 1 833/4"-(7) | _L
79 3/4" - (5) 110 79 3/4" - (7) 11 79 3/4" - (5) 11 79 3/4" - (7) 17
t + 1 + + ' + H-H + ’ +— DD — 4
DETAIL A (CONCRETE) A DETAIL B (WOOD) A DETAIL C (CONCRETE) SEE NOTE 5 A DETAIL D (WOOD)
A (SINGLE PANEL) - (SINGLE PANEL) (2ORMORE PANELS) ~ , R-GARDING (2 OR MORE PANELS)
ANCHOR TYPES: ANCHOR TYPES: ANCHOR TYPES: OF ENCIRCLED ANCHOR TYPES:
10R2 20R3 10R2 ANCHOR 20R3
LOCATIONS
ANCHORAGE SPACING REQUIREMENTS: :wngg'r"ﬂfx:ﬂg
1. DETAILS A AND B ABOVE REPRESENT ANCHORING OF SINGLE X DOORS, OR INDIVIDUAL SIDE LITE O PANELS WITH FULL OR NARROW WIDTH JAMBS. DETAILS C AND D el Code

ABOVE REPRESENT ANCHORING OF ANY MIXTURE OF DOUBLE XX DOORS, SINGLE X DOORS, NARROW JAMB OR FULL JAMB SIDE LITE PANELS, FOR MULTIPLE-PANEL
INSTALLATIONS OF TWO OR MORE PANELS. UNLESS OTHERWISE STATED, DIMENSIONS OF DETAILS A THROUGH D ARE MAXIMUMS,

2. ANCHOR TYPES: 1 - 1/4" ELCO ULTRACON 2 -1/4" ELCO $S4 CRETE-FLEX 3 - #12 STEEL SCREW (G5)

CONCRETE SUBSTRATE USE TYPE 1 AT 1 3/8" MIN. EMBEDMENT OR TYPE 2 AT 1 3/4" EMBEDMENT. 1 3/4" MIN, EDGE DISTANCE FOR BOTH.

WOOD SUSTRATE - USE TYPE 2 OR TYPE 3 AT 1 3/8" MIN. EMBEDMENT.

3. SINGLE PANEL CONFIGURATIONS : (DETAIL A, CONCRETE SUBSTRATE. DETAIL B, WOOD SUBSTRATE)

HEAD AND SILL......6" MAX. FROM FRAME CORNERS.
JAMBS........ooeninnene 11" MAX. FROM FRAME CORNERS, 18.500" MAX. O.C. CONCRETE SUBSTRATE (DETAIL A) AND 10.571" MAX. O.C. WOOD SUBSTRATE (DETAIL B).

4. TWO OR MORE PANEL CONFIGURATIONS : (DETAIL C, CONCRETE SUBSTRATE)

HEAD AND SILL......6" MAX. FROM FRAME CORNERS, AND AT 3" AND 6" MAX. ON EACH SIDE OF ASSEMBLY BEAM AND/OR ASTRAGAL LOCATIONS (CLUSTER OF 4),
JAMBS....11" MAX, FROM FRAME CORNERS AND 18.500" MAX. O.C.

5. TWO OR MORE PANEL CONFIGURATIONS : (DETAIL D, WOOD SUBSTRATE) RSCLLLLLLY Y
St W 4,77
HEAD AND SILL......6" MAX. FROM FRAME CORNERS, AND AT 3", 6", 9" AND 12" MAX. ON EACH SIDE OF ASSEMBLY BEAM AND/OR ASTRAGAL LOCATIONS (CLUSTER OF 8). S ceNss
PLUS ENCIRCLED ANCHORS OUTSIDE CLUSTERS, REQUIRED ONLY ON PANEL WIDTHS OVER 27 3/4", o *
JAMBS.......covenn... 11" MAX. FROM FRAME CORNERS AND 10.571" MAX. O.C. * No. 56705

' Desrions . STATEOF 3
O CHANGES Tl SHEeT (70 TECHNOLOGY DRIVE ANCHORAGE SPACING R FLORDR R
CHANGED TAPCON" TO "ULTRACON". NOKOMIS, FL 34275 e />SS, /0 ew\\ N

ALUM. FRENCH DOOR & SIDE LITES, NON-IMPACT 7177fONAL T
NOKOMES, FL 34274 g o Do o A LYNN MILLER, P.E.
' FDG50 | NTS [Ee o 11 | 8000-12 ‘ D FL P.E.# 58705




CONCRETE ANCHOR
1/4" MAX,

(NOTE 1)
@\l N

TYPICAL SIDE LITE SILL

(DIRECT TO CONCRETE)

- 14" MAX.

GROUT,
SEE

A

NOTES:

ON SHEET 9 MAY BE USED.

A
CONCRETE ANCHOR, SEE NOTE 1

CONCRETE ANCHOR

SEE NOTE 1

OPTIONAL

1/4" MAX,
GROUT
SEE
NOTE 5

WOOD ANCHOR,

SEE NOTE 2 l
Wé ﬂ

OPTIONAL SIDE LITE SILL

(SUBSILL TO CONCRETE)

<:| EXTERIOR INTERIOR |:>

174" A\

MAX,
SHIM

]

| 2x WOOD, SEE
NOTE 3

(ALL HEAD & SILL SECTIONS)

T

fJ

A\ CONCRETE ANCHOR SEE NOTE 1
TYPICAL DOOR & SIDE LITE HEAD

-* EMBED.
. SEE
NOTE 1

1x WOOD
SEE NOTE 3

TYPICAL SIDE LITE SILL

1/4" MAX. WOOD ANCHOR,
GROUT SEE NOTE 2 OPTIONAL
SEE
NOTE 5 @\ Q @
T
1 | TS S
MIN. [ 2xWOOD, SEE
1 L NOTE3

OPTIONAL SIDE LITE SILL

(DIRECT TO WOOQD)

(SUBSILL TO WOOD)

2XxWOOD [
SEENOTE3 [

A
13/8" MIN.

{

Jan

L 1/4" MAX.
SHIM

Elj—/ d

AWOOD ANCHOR SEE NOTE 2

1. FOR CONCRETE APPLICATIONS IN MIAMI-DADE COUNTY, USE ONLY MIAMI-DADE COUNTY APPROVED ELCO 1/4" ULTRACONS OR 1/4" $S4 CRETE-FLEX. MIN. DISTANCE
FROM ANCHOR TO CONCRETE EDGE IS 1 3/4". MIN. EMBEDMENT: 1/4" ULTRACON - 1 3/8", 1/4" SS4 CRETE-FLEX - 1 3/4".

2. FOR WOOD APPLICATIONS USE #12 STEEL SCREWS (G5) OR ELCO 1/4" $54 CRETE-FLEX - 1 3/8" MIN. EMBEDMENT FOR EITHER.

3. WOOD BUCKS DEPICTED AS 1x ARE LESS THAN 1 1/2" THICK. 1x WOOD BUCKS ARE OPTIONAL IF UNIT IS INSTALLED DIRECTLY TO SOLID CONCRETE. WOOD BUCKS
DEPICTED AS 2x ARE 1 1/2" THICK OR GREATER. INSTALLATION TO THE SUBSTRATE OF WOOD BUCKS TO BE ENGINEERED BY OTHERS OR AS APPROVED BY THE
AUTHORITY HAVING JURISDICTION (AHJ).

4. FOR ATTACHMENT TO ALUM: THE MAT'L SHALL BE A MIN. STRENGTH OF 6063-T5 AND A MIN. OF 1/8" THICK. THE ALUM. STRUCTURAL MEMBER SHALL BE OF A SIZE TO
PROVIDE FULL SUPPORT TO THE DOOR FRAME SIMILAR TO THAT SHOWN IN THE DETAILS ON THIS SHEET FOR 2x WOOD BUCKS. THE ANCHOR SHALL BE A #12 SMS
WITH FULL ENGAGEMENT INTO THE ALUM. IF THESE CRITERIA ARE MET, THE PRESSURES SHOWN ON SHEET 3 AND ANCHORAGE SPACING FOR WOOD SHOWN

5. IF SILL IS TIGHT TO SUBSTRATE, GROUT OR OTHER MATERIAL IS NOT REQUIRED. IF USED, NON-SHRINK, NON-METALLIC GROUT, 3400 PSI MIN., (DONE BY OTHERS)

PUQRUCT REVISED
s eomplying with the Fiorid.

W\,

MU

1070 TECHNOLOGY DRIVE
NOKOMIS, FL 34276

P.0. BOX 1620

NOKOMIS, FL 34274

ST FULLY UPPORT THE ENTIRE LENGTH OF THE SILL THAT IS NOT TIGHT TO THE SUBSTRATE, AND TRANSFER SHEAR LOAD TO SUBSTRATE.
_Jf © _|ADDED SIDELITE SILL DETAL REORGANIZED DETALS.

N
NURTL M
S S censg P
IhS noseros X T
:,—% aa’,.iull! ; Liz,\:
Z‘O.-. STATEOF é&/ S
///K\ "".ﬁLOR\??.‘v"'O\\\\
SSIONAL B
1) NAL W

7
A LYNN MILLER, P.E.
FL P.E.# 58705

Description:

ANCHORAGE DETAILS

ALUM. FRENCH DOOR & SIDE LITES, NON-IMPAC

Socieeiode: Scale: Sheet: Drawing No. Rev:
FDE50 12 | 10 « 11 l 8000-12 D




(ALL SILL SECTIONS)

CONCRETE

/A ANCHOR

. SEE NOTE 1,

14" MAX.  gHEET 10
GROUT,

SEE NOTE 5,
SHEET 10

<:| EXTERIOR INTERIOR |j‘>

A emeep. !
SEE NOTE 1,

SHEET 10 * CONCRETE

TYPICAL DOOR SILL
(DIRECT TO CONCRETE)

EMBED.

ﬁ A see
NOTE 1,

INTERIOR S0 '©

(ALL JAMB SECTIONS)
EXTERIOR

7

3.4 KSI MIN.
CONCRETE

Revisions:

1/4" MAX. SHIM- ——I I——

8 ADDED LOW RISE SILL OPTION. REORGANIZED DETAILS.

CONCRETE OPTIONAL OPTIONAL
ANCHOR,
SEE NOTE 1,
SHEET 10
AnGooR WOOD ANCHOR,
174" MAX. SEE NOTE 2, SEE NOTE 1, SHEET 10
GROUT, 14 wax, SHEET 10 114" MAX.
SEE NOTE GROUT, GROUT,
5, SHEET 10 A sEE SEE NOTE
R NOTE 5,—1 5, SHEET 10
=20 | SHEET 10 | =
f :  EMBED. } f
"SEENOTE1, A 138 = ‘3’"t
:“SHEET 10 MIN. SEE NOTE 3. MIN. SEE NOTE 3-
: SHEET 10 — SHEET 10 —
OPTIONAL DOOR SILL TYPICAL DOOR SILL OPTIONAL DOOR SILL
(SUBSILL TO CONCRETE) (DIRECT TO WOOD) (SUBSILL TO WOOD)
FRRRUCT MEVISED
EMBED 4 A e ok
; CONCRETE CONCRETE e //-10)
NoTe 1 /A ANCHOR, A A ANCHOR, oo i ,2015
SHEET 18 SEE NOTE 1, 3@, SEENOTE2,
_ SHEET 10 —{ M, == SHEET10 el
CONCRETE
ANCHOR,
SEENOTE1, A
SHEET10  34KsIMIN
CONCRETE |

OR 1.5 KSI
MIN. CMU =
1XWOOD,
SEE NOTE 3,—

SHEET10

114" MAX. SHIM —=] |=—

>

2x WOOD,
SEE NOTE 3,
SHEET 10

114" MAX. SHIM —=] |=—

TYPICAL DOOR & SIDE LITE JAMB

\‘\\\IHHIIl 77

\
\\\\()\O“j. LYNN '1’7/( //// .,
Shcenss

"'W:J"l' NO CHANGES THIS SHEET.

1070 TECHNOLOGY DRIVE

NOKOMIS, FL 34275

NOKOMIS, FL 34274

Doscrpton:
ANCHORAGE DETAILS (CONT.)

Ix No. 58705 "';.* |
N * N
z-0" a';’{-;m‘ll" B g
—0 ! S
2Qy., STATECF S

SeriesModel:

™ // $ \\\
ALUM. FRENCH DOOR & SIDE LITES, NON-IMPACT 17, TONAL B

Shaet:

11 « 11

v Soale:
FD750 1/4

Drawig Mo,
l 8000-12 D

!
et A LYNK'WILLER P E.
FL P.E.# 58705




